REVIEWED THAKEHAM PRIMARY SCHOOL PE AND SPORT PREMIUM FUNDING PLAN 2018-19

				Ψ.			1
Primary School Sports							
Total Number of Pupil	ls on Roll (.	Jan census 2018)	86	***************************************	24 -		
Y1-Y6 only				**(E		1
Lump Sum			£16,000.00		775	World Inspire	
Amount received per	pupil	(£10 x number	£860	2			
of Y1-6 pupils on roll)							
Carry forward from 20			£3,370.70				
Actual Amount Receiv	/ed		£20,230.70				
Record of spending b	y item/pro	ĭ		_			
Item/Project:	Cost:	Objectives:	Impact:	Spring			
				Total			
				Spending	丄		
Team teaching:	4,826.2	To provide	Teaching alongside qualified PE teachers has improved the confidence and	Autum			
PE lessons	5	outstanding	development of the current staff. This was evident in the quality of teaching	n:			
Steyning Grammar School staff		sports role models for	provided to the children across the 2017/18 year and has continued throughout the Autumn, Spring and Summer terms. The opportunities to team	£1,794.			
alongside		teachers and	teach with these PE teachers has enabled a huge focus on specific skill	38			
Thakeham		pupils; and	development within each area taught across the year. This has meant that				
Primary teachers.		to develop	the children have a solid foundation of knowledge across a range of sports	Spring:			
,		high quality	and can apply their skills accordingly.	£1553.			
		sustainable		75			
		sports provision.		Summe			
				r:			
				£1,732.			
				50			
				Total:			
				£5,080.			
				63			

Funded sports	3,135.0	To continue	Autumn 2018-19	Sept –	
clubs purely	0	to engage		Oct:	
sports.		pupils in active sports	Football: 10 evaluations	£330	
		sessions before/after	Enjoyment rating: 6/10 (60%) pupils rated the club 10/10	Nov-	
		school run by PE	4/10 (40%) pupils rated the club 8/10	Dec: £412.5	
		Coach.	Enjoyment factors:	0	
			Scoring goalsPlaying as a teamPlaying matches	Jan- Feb: £330	
			Skills Improvement:	Mar- Apr:	
			Dribbling	£330	
			ShootingPassing	Apr-	
			Accuracy Tackling	May: £275	
			Teamwork	Jun-	
			Application and future application:	July: £385	
			• 10/10 (100%) have had the opportunity to apply their skills since		
			• 10/10 (100%) felt they would play/learn more about the sport		
			Netball: 6 evaluations		
			Enjoyment rating: 1/6 (16%) pupils rated the club 10/10		

2/6 (33%) pupils rated the club 8/10	
3/6 (50%) pupils rated the club 6/10	
Enjoyment factors:	
Playing gamesShooting	
Skills Improvement:	
CatchingShootingPassing	
Application and future application:	
• 6/6 (100%) have had the opportunity to apply their skills since	
• 6/6 (100%) felt they would play/learn more about the sport	
<u>Spring 2019</u>	
Football: 13 evaluations	
Enjoyment rating: 10/13 (77%) pupils rated the club 10/10	
2/13 (15%) pupils rated the club 9/10	
1/13 (8%) pupils rated the club 8/10	
Enjoyment factors:	

 Playing games Shooting Going in goal Sessions are fun Skills Improvement: Dribbling Shooting Passing Saving Application and future application: 13/13 (100%) have had the opportunity to apply their skills since 	
• 13/13 (100%) felt they would play/learn more about the sport	
Tag Rugby: 15 evaluations	
Enjoyment rating: 13/15 (86%) pupils rated the club 10/10	
2/15 (13%) pupils rated the club 9/10	
 Enjoyment factors: Playing games Shooting Running Tagging The coach makes it fun 	

Skills Improvement:	
 Catching Tagging Passing Teamwork Dodging Changing direction Speed Learning the rules Application and future application: 15/15 (100%) have had the opportunity to apply their skills since 	
• 15/15 (100%) felt they would play/learn more about the sport	
Rounders (10 evaluations)	
Enjoyment rating: 5/10 (50%) pupils rated the club 10/10	
3/10 (30%) pupils rated the club 9/10	
2/10 (20%) pupils rated the club 8/10	
Enjoyment factors:	
Playing gamesWorking with each otherProgression	
Skills Improvement:	

Catching	
Throwing	
Betting	
Running	
Application and future application:	
• 10/10 (100%) have had the opportunity to apply their skills since	
• 10/10 (100%) felt they would play/learn more about the sport	
Athletics (10 evaluations)	
Enjoyment rating: 8/10 (80%) pupils rated the club 10/10	
2/10 (20%) pupils rated the club 9/10	
Enjoyment factors:	
Learning new sports	
Having fun with everyone	
Working together	
OLSII- Income and	
Skills Improvement:	
a lovelin	
Javelin Shot put	
Shot putLong jump	
Running	
- Running	
Application and future application:	
r tepinodiani dila rataro appriodiani.	

• 10/10 (100%) have had the opportunity to apply their skills since
• 10/10 (100%) felt they would play/learn more about the sport
<u>Football</u>
Enjoyment rating: 3/10 (30%) pupils rated the club 10/10
3/10 (30%) pupils rated the club 8/10
3/10 (30%) pupils rated the club 7/10
1/10 (10%) pupils rated the club 3/10
Enjoyment factors:
 Playing games Teamwork Learning new skills
Skills Improvement:
 Passing Shooting Tackling Dribbling
Application and future application:
• 10/10 (100%) have had the opportunity to apply their skills since

			• 10/10 (100%) felt they would play/learn more about the sport		
			Purely sports Day Release for curriculum planning	£124 Total: £2186. 25	
Staff/transport costs to facilitate	740	To continue	Autumn 2018-19	Minibu	
costs to facilitate STARS tasters/tournament s.		participation and improve performance in STARS PE tournaments and taster sessions with our local group of schools (STARS).	Netball Taster Y5/6 Enjoyment rating: 7/10 (70%) pupils rated the club 10/10 1/10 (10%) pupils rated the club 7/10 1/10 (10%) pupils rated the club 6/10 1/10 (10%) pupils rated the club a 0/10 Enjoyment factors: Playing matches Passing Meeting new people Skills Improvement:	s hire: £119.7 0 JY - 6 tasters and minibu s assess ment time: £300.4 0 Minibu	

Shooting	S	
• Footwork	assess	
Teamwork	ment:	
Confidence	£30.00	
Application and future application:	TOTA	
	L	
• 10/10 (100%) have had the opportunity to apply their skills since	£450.1	
The state of the s	0	
• 9/10 (100%) felt they would play/learn more about the sport	U	
10 (100%) felt tiley would play/learn more about tile sport		
Netball Tournament Y5/6 (Cancelled)		
1 Tethan Tournament 15/0 (Cancened)		
Netball Taster Y3/4		
Netball Tastel 13/4		
Enjoyment rating: 9/10 (90%) pupils rated the club 10/10		
Enjoyment rating. 9/10 (90%) pupils rated the club 10/10		
1/10 (10%) pupils rated the club 5/10		
1/10 (10%) pupils rated the club 3/10		
Enjoyment factors:		
Enjoyment factors.		
a Dessing		
Passing Finding out about all the positions		
Finding out about all the positions Playing restables.		
Playing matches		
Rotating positions		
Scoring		
Skills Improvement:		
Shooting		
Passing		
Defending		
Pivoting		

Teamwork	
Application and future application:	
• 10/10 (100%) have had the opportunity to apply their skills since	
• 10/10 (100%) felt they would play/learn more about the sport	
Football Taster Y5/6	
Enjoyment rating: 6/9 (67%) pupils rated the club 10/10	
3/9 (33%) pupils rated the club 9/10	
Enjoyment factors:	
 Passing Getting to play with other schools Range of activities Playing matches Encouragement from SGS Leaders 	
Skills Improvement:	
PassingHeadering	
Application and future application:	
• 9/9 (100%) have had the opportunity to apply their skills since	

• 0/0 (100%) felt they would play/learn more about the sport
• 9/9 (100%) felt they would play/learn more about the sport
Football Tournament Y5/6
Enjoyment rating: 5/10 (50%) pupils rated the club 10/10
2/10 (20%) pupils rated the club 9/10
1/10 (10%) pupils rated the club 8/10
1/10 (10%) pupils rated the club 5/10
Enjoyment factors:
MatchesTeamwork
Skills Improvement:
 Passing Teamwork Control Shooting Confidence Indoor Skills
Application and future application:
• 10/10 (100%) have had the opportunity to apply their skills since
• 10/10 (100%) felt they would play/learn more about the sport

Netball Tournament Y3/4	
Enjoyment rating: 6/10 (60%) pupils rated the club 10/10	
3/10 (30%) pupils rated the club 9/10	
Enjoyment factors:	
 Range of activities Meeting new people Playing matches Shooting Competitiveness 	
Skills Improvement:	
CatchingTeamworkShootingPassing	
Application and future application:	
• 10/10 (100%) have had the opportunity to apply their skills since	
• 10/10 (100%) felt they would play/learn more about the sport	
Multi-sports Tournament Y1/2	
Enjoyment rating: 3/10 (30%) pupils rated the club 10/10	
4/10 (40%) pupils rated the club 9/10	

3/10 (30%) pupils rated the club 8/10
Enjoyment factors:
 Throwing the javelin Playing heads and cones Jumping on the long jump
Skills Improvement:
ThrowingTeamwork
Application and future application:
• 10/10 (100%) have had the opportunity to apply their skills since
• 10/10 (100%) felt they would play/learn more about the sport
Football Taster Y3/4 – Unable to attend due to staffing
<u>Spring 2019</u>
Dance Taster Y3/4: 9 evaluations
Enjoyment rating: 5/9 (56%) pupils rated the club 10/10
1/9 (11%) pupils rated the club 9/10
1/9 (11%) pupils rated the club 8/10
1/9 (11%) pupils rated the club 7/10

1/9 11 pupils rated the club 5/10	
Enjoyment factors:	
 New moves Fun and engaging Group dance opportunities Song Choices Showcasing 	
Skills Improvement:	
Dancing skillsCartwheels	
Application and future application:	
• 9/9 (100%) have had the opportunity to apply their skills since	
• 8/9 (89%) felt they would play/learn more about the sport	
Dance Taster Y5/6: 8 evaluations	
Enjoyment rating: 3/8 (38%) pupils rated the club 10/10	
3/8 (38%) pupils rated the club 9/10	
2/8 (25%) pupils rated the club 8/10	
Enjoyment factors:	
Expanding dance skillsSupport provided	

Making up dances	
Skills Improvement:	
SpinningLearning new movesRemembering routines	
Application and future application:	
• 8/8 (100%) have had the opportunity to apply their skills since	
• 6/8 (75%) felt they would play/learn more about the sport	
Basketball Tournament Y5/6: 6 evaluations	
Enjoyment rating: 3/6 (50%) pupils rated the club 10/10	
2/6 (33%) pupils rated the club 9/10	
1/6 (17%) pupils rated the club 8/10	
Enjoyment factors:	
 Scoring Playing with friends Being part of a team Playing games 	
Skills Improvement:	
Teamwork	

Shooting	
Shooting	
Application and future application:	
• 6/6 (100%) have had the opportunity to apply their skills since	
• 6/6 (100%) felt they would play/learn more about the sport	
Multisports Y1/2: 10 evaluations	
Enjoyment rating: 8/10 (80%) pupils rated the club 10/10	
1/10 (10%) pupils rated the club 9/10	
1/10 (10%) pupils rated the club 5/10	
Enjoyment factors:	
TeamworkRunning	
Football	
Balloons Board	
Skills Improvement:	
Accuracy	
PassingDribbling	
Getting faster	
Shooting	
JumpingThrowing	
5	

Application and future application: • 10/10 (100%) have had the opportunity to apply their skills since • 10/10 (100%) felt they would play/learn more about the sport **Dance Taster Y1/2:** 8 evaluations Enjoyment rating: 7/8 (88%) pupils rated the club 10/10 1/8 (13%) pupils rated the club 5/10 Enjoyment factors: It was fun Dancing altogether Skills Improvement: Learning new moves Spinning Application and future application: • 8/8 (100%) have had the opportunity to apply their skills since • 8/8 (100%) felt they would play/learn more about the sport Tag Rugby Tournament Y5/6: 6 evaluations Enjoyment rating: 5/6 (83%) pupils rated the club 10/10

1/6 (17%) pupils rated the club 0/10	
Enjoyment factors:	
 Playing matches Passing Competing against other schools Fun Scoring a try 	
Skills Improvement:	
InterceptingTeamworkRunningPassing	
Application and future application:	
• 6/6 (100%) have had the opportunity to apply their skills since	
• 5/6 (83%) felt they would play/learn more about the sport	
<u>Summer</u>	
<u>Cross Country Tournament 3-6</u> – 16 evaluations	
Enjoyment rating: 2/16 (13%) pupils rated the club 10/10	
3/16 (19%) pupils rated the club 9/10	
5/16 (31%) pupils rated the club 8/10	

4/16 (25%) pupils rated the club 7/10	
1/16 (6%) pupils rated the club 6/10	
Enjoyment factors:	
TeamworkRunningCompetition	
Skills Improvement:	
StaminaPerseveranceSpeed	
Application and future application:	
• 16/16 (100%) have had the opportunity to apply their skills since	
• 16/16 (100%) felt they would play/learn more about the sport	
Athletics Tournament 1-2	
Enjoyment rating: 10/10 (100%) pupils rated the club 10/10	
Enjoyment factors:	
RunningFun gamesJumpingRaces	

Skills Improvement:	
Accuracy	
Throwing	
Dribbling	
Application and future application:	
• 10/10 (100%) have had the opportunity to apply their skills since	
10/10 (100/0) have had the opportunity to apply their shints since	
• 10/10 (100%) felt they would play/learn more about the sport	
10/10 (100/0) left they would play/learn more about the sport	
Multi-games Taster 1-2	
Wuiti-games Taster 1-2	
Enjoyment rating: 6/10 (60%) pupils rated the club 10/10	
Linjoyment rating. 6/10 (00 %) pupils rated the club 10/10	
3/10 (30%) pupils rated the club 9/10	
3/10 (3070) papils rated the dab 3/10	
1/10 (10%) pupils rated the club 8/10	
1710 (1070) papils rated the olds of 10	
Enjoyment factors:	
Enjoyment ractors.	
Working together	
Hoop games	
Football	
1 Ootball	
Skills Improvement:	
Chaile improvement.	
Control	
Teamwork	
• Speed	
Catching	
- Catoling	

Throwing
Application and future application:
• 10/10 (100%) have had the opportunity to apply their skills since
• 10/10 (100%) felt they would play/learn more about the sport
Athletics Tournament 5-6
Enjoyment rating: 4/10 (40%) pupils rated the club 10/10
4/10 (40%) pupils rated the club 9/10
2/10 (20%) pupils rated the club 8/10
Enjoyment factors:
Running races Competition
CompetitionTeamwork
Skills Improvement:
Shot put throw Optinities
SprintingJavelin throw
Application and future application:
• 10/10 (100%) have had the opportunity to apply their skills since

• 10/10 (100%) felt they would play/learn more about the sport **Rounders Taster 5-6** Enjoyment rating: 1/10 (10%) pupils rated the club 10/10 5/10 (50%) pupils rated the club 9/10 4/10 (40%) pupils rated the club 8/10 Enjoyment factors: Batting technique Small activities to prepare for rounders games Skills Improvement: Batting technique **Bowling** Accuracy Application and future application: • 10/10 (100%) have had the opportunity to apply their skills since • 10/10 (100%) felt they would play/learn more about the sport **Rounders Tournament 5-6** Enjoyment rating: 2/10 (20%) pupils rated the club 10/10 5/10 (50%) pupils rated the club 9/10

			2/10 (20%) pupils rated the club 5/10		
			1/10 (10%) pupils rated the club 3/10		
			Enjoyment factors:		
			Playing against other schoolsTeam support		
			Skills Improvement:		
			 Teamwork Batting Running Throwing 		
			Application and future application:		
			• 10/10 (100%) have had the opportunity to apply their skills since		
			• 10/10 (100%) felt they would play/learn more about the sport		
SGS costs to facilitate Tournaments and Tasters	£333	To continue participation and improve performance in STARS PE tournaments and taster sessions with our local group of schools (STARS).	See taster and tournaments evaluations above.	£333.3 4	

2019 European Games Sports	2000	To engage children in a	Karate Workshop	£70	
Week		range of sports	Archery Workshop	£132	
		activities linked to the	Golf Workshop	£749	
		2019 European	Cricket Workshop (No charge)	£0.00	
		Games.	Street Dance Workshop	£399	
				TOTAL £1350	
Supply Cover	800	To support CPD opportunities for the PE Leader to enable	Release time has allowed the PE leader to collate data from the tournaments and taster sessions and also to continue to monitor the impact of PE spending across the school.	£98	
		whole-school development and	Day Supply Spring 28/03/19 to complete evaluations, book workshops for Sports week and complete spring spending plan.	£259.1 0	
		leadership of PE	Day Supply Summer 27/06/19 to complete evaluations, organise Sports week and summer spending plan.		
		To provide release time	Morning Supply to complete summer spending plan and monitor the impact of PE across the school.	£98	
		for the PE Leader to plan alongside	Morning Supply Sports Day Cover	£98	
		PE coaches and to facilitate events and		Total: £553.1	

		for monitoring of impact of our PE plan.			
Most Able Pupil workshops	600.00	To provide opportunities for further skills development and opportunities	Extra Archery Session During Sports week - More able pupils in PE were acknowledged by their teachers and provided with an archery session that stretched and challenged their abilities further. The children appreciated having the opportunity to show off and improve their skills. It is important for more able pupils in PE to be able to develop their abilities, therefore this will continue next academic year.	Cost allocat ed above	
		amongst our pupils who are recognized as being 'Most Able' in PE.	Swimming Session for Maple Class Children as a reward/celebration of their successes whilst being at the school. To promote and encourage a range of sports on offer, the children will be attending a swimming session at MXT.	£120 Total: £120	
Winning House PE Activity	£500	To provide opportunities for children in the winning house to develop their PE skills and understandin g.	Yoga Workshop We are fortunate enough to have a qualified yoga teacher within our parent community. Looking ahead to a key focus of our School Development Plan for the year ahead, we trailed this healthy mind and body approach. There was a positive response from pupils so we will continue to explore this moving forward. Kindly this was provided without cost.	£0	
Equipment	2,000	To further update PE resources for use in in light of becoming a new	In order to facilitate engagement in PE our equipment will be updated when needed, as well as providing the children with a range of resources to support effective teaching and learning. Shed bought to provide storage for EYFS bikes.	Shed: £462.5 0 Equip ment:	

		Primary School on a new site.	Gazebos for Sports Day to provide shade from the sun.	£425.4 4 £466.6 4	
Healthy Eating/Active Lifestyle	700	To engage children in understandin g about the importance of food and nutrition alongside a healthy, active lifestyle.	Fit4Kids – This workshop engaged all children in school in learning about healthy eating and provided them with memorable workouts suitable for all abilities. The children learnt about which food types their body needs and how to ensure the food they are consuming is beneficial for their bodies. The children took part in a range of circuit based exercises which they could complete at home to continue with regular exercise.	£499.0 0	
Cricket/Rugby	400	To provide opportunities for focused skills development in cricket/rugby and to foster local sports links.	Tag Rugby Festival at Pulborough, Invited Spring 2019 – Workshop Free Tag Rugby Festival: 9 evaluations Enjoyment rating: 6/9 (67%) pupils rated the session 10/10 1/9 (11%) pupils rated the session 9/10 1/9 (11%) pupils rated the session 5/10 1/9 (11%) pupils rated the session 2/10 Enjoyment factors: Playing matches Drills Scoring a try	£0.00	

			Skills Improvement: • How to carry the ball when running • Teamwork • Running • Passing Application and future application: • 9/9 (100%) have had the opportunity to apply their skills since • 8/9 (89%) felt they would play/learn more about the sport Cricket Workshop During Sports Week.		
Forest School	£720	To provide opportunities for outdoor learning	Providing the opportunities for children to see a different side to physical activity including building shelters, tying ropes and lifting heavy objects and has also improved their team work and cooperation. Day Release for curriculum planning time.	£818	
			The children benefitted hugely during their forest school sessions. They were stimulated by the experience and across each session their self-belief, confidence, learning capacity, enthusiasm, communication, problem-solving skills and emotional well-being improved. Their experience has also led to the development of healthier lifestyles with more children choosing to be physically active in and around our forest school area.	£360 Total: £1178	
Bikes	£755	To allow opportunities for EYFS children to be active and healthy	Providing new outdoor equipment specifically for the EYFS children has encouraged them to be physically active at a variety of times in the day.	£893.6 4	
Real PE Scheme	£1795	To provide purposeful	Not required this academic year		

		lessons for teaching showing the development of skills and allowing assessment opportunities			
Box2bfit	£600	To motivate and instill a	Autumn Evaluation (18 evaluations)	£600	
Equipment Funding for PE Co-ordinator to deliver Box2bfit	£979 pa	and instill a positive attitude towards physical activity.	Enjoyment rating: 14/18 (77%) pupils rated the club 10/10 4/18 (22%) pupils rated the club 9/10 Enjoyment factors:	£979.0 0	
			 Working with different people each week Lots of fun and exercise Throwing Skipping Bunny Hops Range of activities Skills Improvement: Strength Teamwork/Co-operation Fitness Skipping Accuracy Punching technique 	Total: £1579	

Application and future application: • 18/18 (100%) have had the opportunity to apply their skills since • 18/18 (100%) felt they would play/learn more about the sport **Spring Evaluation Box2Bfit (21 evaluations)** Enjoyment rating: 20/21 (95%) pupils rated the club 10/10 1/21 (5%) pupils rated the club 9/10 Enjoyment factors: Being fit Range of activities • Lifting the medicine balls Rotating partners Skipping • Working hard but the teacher makes it fun Whole experience Circuits Encouragement system and certificates Skills Improvement: • Boxing on the pads (how to hold them, learning to complete jabs, hooks and uppercuts) Fitness Strength Weight Lifting

 Learning new exercises Working hard with other people Effort 	
Application and future application:	
• 21/21 (100%) have had the opportunity to apply their skills since	
• 21/21 (100%) felt they would play/learn more about the sport	
Summer Evaluation	
Box2Bfit (22 evaluations)	
Enjoyment rating: 22/22 (100%) pupils rated the club 10/10	
Enjoyment factors:	
 Variety of activities Teamwork Activities rotate each week Motivational Fitness Certificates for the best effort each week 	
Skills Improvement:	
 Boxing Teamwork Perseverance Strength Agility 	

			 Stamina Application and future application: 22/22 (100%) have had the opportune 22/22 (100%) felt they would play/let 	earn more about the sport	
Cross curricular- dance opportunities in the curriculum	1300	To extend the range of dance opportunities	Oak Australian Dance Workshop linke linked to the Mayans – The children be workshop which taught them about the to be physically active.		£295 £425
		available to pupils and to encourage greater participation through cross-curricular links.	Maple Workshop linked to PSHE RES emotional well-being this workshop for able to tackle any issues that they ma facilitator themed the workshop to the active throughout the session and wor Diwali Dance Workshop for next acad	cused on ensuring the children were by face in and out of school. The circus which meant the children were rked closely on their mental health.	£156.3 6 TOTAL £876.3 6
			national curriculum requirements fo	r swimming and water safety	
Percentage of current Year 6 cohort who swim competently, confidently and proficiently over a distance of at least 25 metres?			11/11 (100%)		
Percentage of current Year 6 cohort who use a range of strokes effectively [for example, front crawl, backstroke and breaststroke]?			11/11 (100%)		
Percentage of current Year 6 cohort who perform safe self-rescue in different			11/11 (100%)		
water-based situati	ons?				
Summary Tatal Sahaal Sparts 5	mamairina Da	:d		520,220,00	
Total School Sports Premium Received Total Expected Expenditure			£20,230.00 £19,530.25		
Total Sports Premium Spent			£16,454.00		
Amount remaining			£3776.00	· · · · · · · · · · · · · · · · · · ·	
				1	